VALY - Vaje 2 vtrjevang

0 0=28 Loeuy’ P= 20 +pl
i i 4 @ N=A2cm s
= 69800 P L2696 (= Slen’ V-0
%4 P=56,52+169,56 V=1 | iz 02412
I -E: QQG; Qgcmt V: Gﬁzfggfm;:
) =G Tlrlovw) Tt (7 =T
0=16Tcm" P i v Al o
2 glzg;(gg) b (= T4
V=1 P= 404w et ‘\//’_'%%EW;
P= 306,56cm" ) 2
o P=2Tv(rta™) V: {,LB_Z.;’/@CM

(= A6T dus* T |- |
@ r dus LTrwr 44—?7/ 2 P:Z.jf#f.%f}g,(@};%%} \/:T!_r""faf

=Abem A =F e
P=-% 16r=7 (b §i Z;Mh?g’ 2915 V=31 4‘3;?51"45
V-1 r=tistn P26+ D0n” V=96162,5c1°
@ I'=43,F5em e |
d= 08m=9diy = r=b5d
% M :.']T 1. V) : +
A= 501m= Solieg \\//: 32,4; 2 V lonito (ahko nas: L,
V., : [ z1‘75 «3 Pl";b[ifﬂﬁ 347—9/3
=t V=520 zemlie, |
W= 5o Trkat= V
' V=M =4td® B 545= 41 [ 2Mr(y +4~)
p-1 b Gy 2 A(1418)
Y‘=J':[_ P= 62825
@/Pns"—'@dml d'/b;"fﬁ::/{ " / [ };:/{gi}dmi ‘-:SHHWQ-
M= =704 = ; ,/P:?'mn A P =Ulnar 3 slebi s 11543 =
,55@;? "‘: Zﬂi{(_fi[/ L0 ey 20)) : (=17 4‘@1 st 41%5 S?E,J’Jh;
11 bane 2a U5 = = 42'4‘1 \P: 4?-3)—61{“411 | FET- pr-a'wt' ﬂé{ffin 15‘0.5&.,1'-:?.{5'%’
td Pﬁban/aﬁy'e vseh 3 stelyoy Pﬂﬁfbfjg'a P’-“@bggdw / Fl'-"flﬁﬁcfw = ﬂ_

priblidino 3,50 bavwe



@ \&1: a- \{? =Trar \/g > Vy_—- Wy
L p=4 7 =T Vo= 51—~ 92
= /=y V= SAdu” V=108’ Vo= 0 0f c?mg

T | s ot

=0l ==t
L= dl= 5l =7 =41 Vf’ m/ W/M—//&ﬁ/ 015 MW% =215/

Oé{fﬂaa{kdje 1S %.
O T i
=50em D= Loum 095.2 Tl 57
r\.(':q, \/" 0}”’2575&: PWHRM& OAM’}ZE%[

Prf/l/’ﬁiig* = +05r) .
=% Saf=15" MW::FIV /: i \/:'[F(?”',ZO
l/V\'J'ZOCV_!:}_J =1 \/::/{2570 ";}Em’b
=\ 64 ” i
\r: gcﬂ’ﬂ { V"" 40’/9)7_(;%
T

Prostorina Vd{{ﬁ Wasa FVEHE{W 404%25»; ;



